wEs5 (1) 3w, EEEby +c 2) 2%X, EHIEax®+c

it

wEe (1) (a+2)x+(4a*—3a) 2) #*4+(By—1)x+(2y*—3y—2)

87 (1) A+B=(2x2+3x—1)+(4x*—5x—6)=(2+ 4 x2+(3—5)x+(—1—6)
=6x2—2x—7

A—B=(2x24+3x—1)— (422 —5x—6)=2x2+3x—1—4x2+5x+6
=2—4)x*+(34+5)x+(—14+6)=—2x24+8x+5
2) A4+ B=(4x*—3x*—2x4+5 + (223 —3x24+7)=(4+2)x*+(—=3—-3)x2—2x+(5+7)
=6x°—6x%—2x+12
A—B=(4x>—3x*>—2x+5)—(22° —3x*+7) =4x°>— 32> —2x+5— 2234+ 322 -7
=(4—2)x>+(—3+3)x*—2x+(5—7)
=2x3—2x—2

HES (1) A+2B=(x’+4x—3)+224°>—x+4)=x2+4x—3+4x2—2x+38
—(1+4)x%+(4—2)x+(—3+8)
=5x%+2x+5

2) 2A—3B=2(x?+4x—3)—3(2x% —x+4) =242 +8x—6—6x2+3x—12
=(2—6)x*+(8+3)x+(—6—12)
= —4x+11x—18

HE10 (1) 4x%2x2—3x+5)=4x2%x 242+ 422X (—3x)+4x%%X5
=8x1—1243420x°
2) (Ba® —a—2)xX(—2a)=3a’X(—2a)+(—a)X(—2a)+(—2)X(—2a)
= —6a’+2a’+4a
fikn
HEL11L 1) 2x—1(4x24+3)=2x—1)-4x24+(2x—1)-3=8x3—4x2+6x—3
2) 222+ x—-3)(x—2)=2x*4+x—3)x+ 24+ x—3)-(—2)
=2x°+ x> —3x—4x2—2x 46
=2x°—3x2—5x46

=



3) (x+3)x2—2x+1)=x(x2—2x+1)+3(x2—2x+1)
=x°—2x%+ x+3x2—6x2+3
=x4+ 2% —5x+3

4) 2x+1)3x%+x—2)=2x3x24+x—2)+1-(3x24+x—2)

=6x°+ 242 —4x4+3x%+x—2
=6x°4+5x%—3x—2
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1) (22+52=(2x)2+2-2x-5+52=4x2+20x+25
(22 —3y)%=(24)2—2-2x-3y+(3y) > =44 —12xy+9y*
(5x+4y)5x—4y)=(5x)*—(4y)* =25x2—16y*
(x4+1)(x+5)=224+(1+5)x+1-5=224+6x+5
(x—3)(x+8) =x%+(— 3+8)x+( 3)-8=x%45x—24
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x—2(x—4)=2>+{(=2)+(—Dlx+(—=2)- (—4) =x>—6x+8
x4+ 2y)(x+5y) = x* +(2y+5y)x+2y S5y=x2+Txy+10y*
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2+ y)(x—4y) =22+ (y—4dya+y-(—4y) =2°=3xy—4y°
x—2a)x—Ta)=x*+(—2a—Ta)x+(—2a)-(—Ta)=x*—9ax+14a*
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1) (2x+1)(4x+5 =2-4x24+(2-5+1-4)x+1-5=8x24+14x+5

(x4+4)(2x—3)=1-222+{1-(—=3) +4-2}x+4-(—3) =222 +5x— 12

S

Br—T)(x+2)=3-122+{3-2+(=7)- 1}z +(=7)-2=3x—x— 14

—
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4) (2x—=5)2x—1)=2-2x*+{2-(=1)+(=5)-2}x+(=5)-(—1)=4x*—12x+5

5) (x4+29)Bx—y)=1-32%+{1-(—y)+2y-3)x+2y-(—y)=3x>+5xy—2y*

6) (3x—2a)(dx—3a)=3- 4x2+{3-(—3a)+(—2a)- x+(—2a)-(—3a)
=12x2—17ax +6a?®



